Inke] | o] Foll A 247

[e)
L
i)

]l 1500

H

—_

319

T+

il
N

1

Ite]

[e)
L2
it

ol 1000

ol

Bl
——
1jo
Bl
iy
FL6S
‘M .
iz W
o -
R =
O
0 <+ 5
J..m Il I
E_u’ mx =
] 3 B
RN
- B
w_._a 4+ S o
™ xS W




ol AF3]o] YFEE 0] 500 Y, oldol7t 250 Yotk o=
& Qo] B 200 F 2R, AF= FAZE 55000 @O AT
ARt ofdol = ol ER T ¥ o) H Y2710

® 100 ¥ @ 120 1 ® 140 ¥

®)160 3 ® 180 ¥

£ x 3, ooty B st shd
x+y =200
500x + 250y = 55000

. 180 — 20 = 160()




3.

215 X 1520

i < A 9 917
® 872 @ 1072 ® 1172
@122 ® 1372

B

215 x 152 215 x (3 x 5)%
4510 - (32 % 5)10
215 X 320 X 520
T T 320 ¢ 510
— 215 X 510
=25 x 210 x 510
=32x10%

whebA 12 4h2] o] ol ek,




4. 219x3x58 & @ g9 42171

@ 8 @9 @10 @ 11 ® 12

228 x3x 585 =22x3x(2x5)® =12x 108
w2hA] 10 2He] o] 4ot




Aol y o] g2 &= AAL W, vh= S y7h x 9

=
1o
o =
N o
24
rf
>
N

@ x+y=0 © yo xHoh e Zos
© y= x9 o= @ xy=10
@ y=x9 9

D 6.8 ®@oe o ® 00,0

ONGACNG) ® ©.e

~&B \

xo] eJste] AR y ol 7, & xollAle] Feghe] 2] shigt
EAstE Ae gt Pk

Oy x Bt A2 A5 1 y= xBHoh 22 A= o9 77t
A g = A

©yx x9 5 1 AdF 29 e 2 A7t EASER,
7t E 4 ok




6. T5olA yE xo A2 e 5 gle A2?

Tlo

@O 7t=22] 4ol 3cm, Al22] Zo]7F xem Q1 HAHEE 9] Hol=
y(:m2 o]ct.

@ xAI7F yEoltt

@) A% x 0] o4 yolrt,

@ 2159 Zol7F xem Q! Y] & 9] Zol&= yem O[T,

©® Zo]7F10m Q] HIO|ZE xmAFE-SHL H2 o] L] Aol

ym o]t}




